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max z =x 1 +x 2 

s. t. 2x 1 + 3x 2 ::; 12 

2x 1 +x 2 ::; 8 

x ~' x 2 ~ 0 
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max z = 2x 1 + x 2 

S. t. X 1 + X 2 ::; 5 

X 1 +2X 2 ~ 8 

x~'x 2 ~ 0 

mm z = x ll + 2xl2 + 4x iJ +3x l4 

5x 21 + 6x 22 + 2x 23 + x 24 

3x 31 + 5x 32 + 3x JJ + 4x 34 

s. t. XII +XI2 +XI J +X I4 = 6 

X 21 +X 22 +X 23 + X 24 = 8 

X 31 + X 32 + X 33 + X 34 = 14 

x ll+ x 21 +x JI =5 

X 12 + X 22 +X 32 = 4 

X 13 + X 23 + X 33 = 9 

x l4 +x 24 +x 34 =10 

X iJ ~ 0, (i = 1: 3,) = 1: 4) 
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min z =6x 11 +4x 12 +2x 13 +x 14 

3x 21 + 4x 22 + 8x 23 + 2x 24 

3x 31 +6x32 +9x 33 +4x34 

x 41 + 4x 42 + 8x 43 + 2x 44 

S. t. X II +X 12 +X 13 +X 14 = 1 

X 21 +X 22 +X 23 +X 24 = 1 

X 31 + X 32 + X 33 + X 34 = 1 

X 41 +X 42 +X 43 +X 44 = 1 

X II +X 21 +X 31 +X 41 = 1 

X 12 +X 22 +X 32 +X 42 = 1 

X 13 + X 23 + X 33 + X 43 = 1 

X 14 +X 24 +X 34 +X 44 = 1 

x iJ ::?: 0, (i , j =1 :4) 
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